

All India Institute of Medical Sciences, Raipur (Chhattisgarh)

Tatibandh, GE Road, Raipur-492 099 (CG)

www.aiimsraipur.edu.in

Date: 17-10-2020

NIQ/25/EE/AIIMS/RPR/2020-21

NOTICE INVITING e-QUOTATION

The Executive Engineer (Civil) on behalf of Director, AIIMS, Raipur invites online Percentage Rate bids in single bid system (Technical cum Eligibility & Financial) from registered civil contractors of appropriate list of CPWD, M.E.S., BSNL, Railway, P.W.D. (B&R) for the following work(s):-

S1.	Description	Details					
(a)	NIQ No.	25/EE/AIIMS/RPR/2020-21					
(b)	Name of Worls	"Construction of toilet in tuberculosis laboratory in Animal house Building at AIIMS Raipur."					
(c)	Estimated Cost	Rs. 65786.00					
(d)		Rs. 1400.00 (EMD original to be submitted during Office hours before opening of technical Bid.)					
(e)	Period of Completion	21 days					
(f)	Last Date & Time of Submission	By 23-10-2020 UP TO 11:00 Hours through online.					
(g)	Date & Time for opening of Technical & Financial bid	On <mark>24-10-2020</mark> at 11:30 Hours.					

Terms & Conditions:

- 1. The **first and final bill** payment will be done after completion of work as per specification.
- 2. Labour Law to be obeyed by the Agency.
- 3. Schedule of Quantity attached in CPP Portal.
- 4. **Time allowed for the completion of the work is 21 days**. It will be reckoned from the day award of the work. If the agency not completed work within stipulated date then <u>LD@0.5%</u> per week of delayed contract value subject to maximum of 10% of delayed contract value will be deducted.
- 5. **Security Deposit** @2.5% of tendered value/ quoted value is deducted in first & final bill and will be released after 06(Six) months of successfully completion of work.
- 6. EMD amount will be released to the agency after completion of work.
- 7. The bidder shall be responsible for arranging and maintaining at his own cost all materials, tools & plants, water, electricity access, facilities for workers and all other services required for executing the work.
- 8. All damages done to the building during execution of work shall be the responsibility of the contractor and the same will be made good immediately at his own cost to the satisfaction of the Engineer-in-Charge. Any expenditure incurred by the department in

- this condition shall be recovered from the contractor and decision of the Engineer-in-Charge about recovery shall be final.
- 9. The work will be done in a running hospital, hence the work to be done as per the rules and instructions of Engineer-In-Charge. All the conditions of work at site are applicable to the successful bidder.

Information to the bidders:-

- 1. The intending bidders must have valid class-III digital signature to submit the bid. Manual bid shall not be accepted in any circumstance. The complete bidding process is online bidding; Bidder should have valid digital Signature Certificate (DSC) for online submission of bids.
- **2.** The bid document consisting of plans, specifications, the schedule of quantities of various types of items to be executed and the set of terms and conditions of the contract to be complied with and other necessary documents can be seen and downloaded from website http://eprocure.gov.in/eprocure/app free of cost.
- **3.** The bid can be submitted only after uploading the mandatory scanned documents up to 100 dpi Copies of eligibility documents and EMD as specified on the e-tendering website within the period of tender submission. Bidders can upload documents in the form of JPG format, PDF format and any other format as permissible by the e-tendering portal.
- **4.** Bidders must ensure to quote rate of each item. If any cell is left blank the same shall be treated as "0". Therefore, If any cell is left blank and no rate is quoted by the bidder, rate of such item shall be treated as "0"(ZERO). After submission of the bid online the contractor can re-submit revised bid any number of times but before last time and date of submission of bid as notified.
- **5.** After submission of bid online, it can be revised any number of times before specified time on last date of submission of bid. While submitting the revised bid, bidder can revise the rate of one or more item(s) any number of times (need not re-enter rate of all the items) but before last time and date of submission of bid as notified.
- **6.** Financial bids shall be opened online only for bidders for whom EMD and other uploaded documents are found in order and who are found to be eligible to bid for work. On opening date, the bidder can log in and see the bid opening process. After opening of bid he/she will receive the competitor bid sheets.
- 7. If the bidder is found ineligible after opening of bid, bid shall become invalid.
- 8. The Bidders shall have to submit original instrument for EMD (EMD released of any work will not be accepted again if earlier submitted in any case) before the last date of opening of TECHNICAL Cum Eligibility Bid to the office of Tender Opening Authority. The bid security is to remain valid for a period of 45 (forty-five) days beyond the final bid validity period. Bid security will be refunded to the successful bidder on receipt of a performance security. Bid securities of the unsuccessful bidders should be returned at the earliest after L1 decided by Committee of AIIMS Raipur.
- **9.** The Eligible bid shall be opened first on due date and time as mentioned above. Opening of financial bids of contractors qualifying the eligibility shall be opened at the same date.
- **10.** The department reserves the right to reject any prospective application without assigning any reason and to restrict the list of qualified contractors to any number deemed suitable by it, if too many bids are received satisfying the laid down criteria.

- 11. Intending Bidders are advised to inspect and examine the site and its surroundings and satisfy themselves before submitting their bids, the means of access to the site, the accommodation they may require and in general shall themselves obtain all necessary information as to risks, contingencies and other circumstances which may influence or affect their bid. A bidder shall be deemed to have full knowledge of the site whether he inspects it or not and no extra charge consequent on any misunderstanding or otherwise shall be allowed. The bidders shall be responsible for arranging and maintaining at his own cost, all materials, tools & plants, water, electricity access, facilities for workers and all other services required for executing the work unless otherwise specifically provided for in the contract documents. Submission of a bid by a bidder implies that he has read this notice and all other contract documents and has made himself aware of the scope and specifications of the work to be done and of conditions.
- **12.** The Tender paper/documents can be seen / downloaded from Official website & submitted through Online or Site.
- 13. The competent authority on behalf of the Director, AIIMS, Raipur does not bind itself to accept the lowest or any other bid and reserves to itself the authority to reject any or all the bids received without the assignment of any reason. All bids in which any of the prescribed condition is not fulfilled or any condition including that of conditional rebate is put forth by the bidder shall be summarily rejected.
- **14.** Canvassing whether directly or indirectly, in connection with bidders is strictly prohibited and the bids submitted by the contractors who resort to canvassing will be liable to rejection.
- **15.** The Competent Authority, The **Engineer-In-Charge**, reserves to himself the right of accepting the whole or any part of the bid and the bidder shall be bound to perform the same at the rate quoted.
- 16. The contractor shall not be permitted to bid for works in the AIIMS, Raipur responsible for award and execution of contracts, in which his near relative is posted as an officer in any capacity between the grades of Superintending Engineer and Junior Engineer (both inclusive). He shall also intimate the names of persons who are working with him in any capacity or are subsequently employed by him and who are near relatives to any gazette officer in the AIIMS, Raipur. Any breach of this condition by the contractor would render him liable to be removed from the approved list of contractors of this Department.
- **17.** The bid for the works shall remain open for acceptance for a period of **90 days** from the date of opening of bids.
- 18. This notice inviting bid shall form a part of the contract document. The successful bidder/contractor, on acceptance of his bid by the Accepting Authority shall within 15 days from the stipulated date of start of the work, sign the contract consisting of "The Notice Inviting bid, all the documents including additional conditions, specifications and drawings, GCC, if any, forming part of the bid as uploaded at the time of invitation of bid and rate quoted online at the time of submission of bid and acceptance thereof together with any correspondence leading thereto.

19. Eligibility of Bidders

- (a) All eligible bidders meeting the eligibility can participate in the tender. The applicant should be a private or government-owned legal entity;
- (b) For package size exceeding certain values [say Rs. 10 (ten) Crore], Joint

- Ventures may be allowed. Maximum number of partners in Joint Ventures shall be limited (say three). In case of Joint Ventures, all the partners shall be jointly and severally liable for the successful completion of the work;
- (c) A firm that has been engaged by Ministry/ Department to provide consultancy services for the preparation or implementation of a project, and any of its affiliates (associates,
 - Subsidiary, **Joint Ventures** partner), shall not be eligible for subsequently providing goods or works (other than a continuation of the firm's earlier consultancy services) for the same project;
- (d) A firm determined non-performing by the Procuring Entity shall not be eligible to bid during the period so determined;
- (e) The bidder must not have in his employment:
 - a) The near relations (defined as first blood relations, and their spouses, of the bidder or the bidder's spouse) of persons involved in decision making in the procurement.
 - b) Without Government permission, any person who retired as gazetted officer within the last two years of the rank and from the departments.
- (f) Goods and services Tax (GST)

20. Signing of bid document:

- **a)** If the bidder is an individual, the bid shall be signed by him above his full type written name and current address.
- **b)** If the bidder is a proprietary firm, the bid shall be signed by the proprietor above his full type written name and the full name of his firm with its current address.
- c) If the bidder is a firm in partnership, the bid shall be signed by all the partners of the firm above their full type written names and current addresses, or, alternatively, by a partner holding power of attorney for the firm. In the later case a certified copy of the power of attorney should accompany the application. In both cases a certified copy of the partnership deed and current address of all the partners of the firm should accompany the application.
- **d)** If the bidder is a limited company or a corporation, the bid shall be signed by a duly authorized person holding power of attorney for signing the application accompanied by a copy of the power of attorney. The bidder should also furnish a copy of the Memorandum of Articles of Association duly attested by a Public Notary.

List of Mandatory Documents to be filled in by the bidders in various forms to be scanned and uploaded within the period of bid submission

- **EMD** in the form of an account payee demand draft, fixed deposit receipt from a commercial bank, bank guarantee issued/ confirmed from any of the commercial bank in India in the name of the "All India Institute of Medical Sciences, Raipur" 2 Enlistment Order for the Contractor (Contractor's registration certificate) 3 | Vendor Details as per (Annexure-A)
- 4 | GST Registration Certificate
- 5 Registration certificate of Employee Provident Fund (EPF) Commissioner and Employee State Insurance (ESI) Corporation.



FORM FOR DETAILED INFORMATION BY BIDDER (Vendor Details)

1.	Name of the Bidder	
2.	Permanent Account No (PAN)	
3.	Particulars of Bank Account	
	a) Name of the Bank	
	b) Name of the Branch	
	c) Branch Code	
	d) Address	
	e) City Name	
	f) Telephone No	
4.	Legal status of the bidder (attach	
	copies of original document	
	defining the legal	
	a) An Individual	
	b)A proprietary firm	
	c)A firm in partnership	
	d)A limited company or	
	Corporation	
5.	GST Registration Certificate No	
6.	Valid Email ID of the Bidder	
7.	Complete Postal Address of the	
	bidder	

Schedule of Quantity

Name of Work: Construction of toilet in tuberculosis laboratory in Animal house Building at AIIMS Raipur.

Item no	Description of item	Otv	Unit	Rate	Amount
Item no	Description of item	Qty	Omt	Kate	Amount
1	SUB HEAD I - Masonry Work				
1.1	Half brick masonry with non modular fly ash bricks of class designation 7.5 in super structure above plinth and upto floor V level.				
1.1.1	Cement mortar 1:4 (1 cement: 4 coarse sand)	6.80	sqm	917.00	6235.60
2	SUB HEAD II - Cladding Work				
2.1	Providing and fixing Ist quality ceramic glazed wall tiles conforming to IS: 15622 (thickness to be specified by the manufacturer), of approved make, in all colours, shades except burgundy, bottle green, black of any size as approved by Engineer-in-Charge, in skirting, risers of steps and dados, over 12 mm thick bed of cement mortar 1:3 (1 cement : 3 coarse sand) and jointing with grey cement slurry @ 3.3kg per sqm, including pointing in white cement mixed with pigment of matching shade complete.	12.40	sqm	1030.30	12775.72
3	SUB HEAD III - Wood and PVC Work				
3.1	Providing and fixing factory made uPVC door frame made of uPVC extruded sections having an overall dimension as below (tolerance ±1mm), with wall thickness 2.0 mm (± 0.2 mm), corners of the door frame to be Jointed with galvanized brackets and stainless steel screws, joints mitred and Plastic welded. The hinge side vertical of the frames reinforced by galvanized M.S. tube of size 19 X 19 mm and 1mm (± 0.1 mm) wall thickness and 3 nos. stainless steel hinges fixed to the frame complete as per manufacturer's specification and direction of Engineerin- charge				
3.1.1	Extruded section profile size 48x40 mm	5.00	metre	221.65	1108.25
3.2	Providing and fixing to existing door frames.				

3.2.1	30 mm thick factory made Polyvinyl Chloride (PVC) door shutter made of styles and rails of a uPVC hollow section of size 60x30 mm and wall thickness 2 mm (± 0.2 mm), with inbuilt decorative moulding edging on one side. The styles and rails mitred and joint at the corners by means of M.S. galvanised/ plastic brackets of size 75x220 mm having wall thickness 1.0 mm and stainless steel screws. The styles of the shutter reinforced by inserting galvanised M.S. tube of size 25x20 mm and 1 mm (± 0.1 mm) wall thickness. The lock rail made up of 'H' section, a uPVC hollow section of size 100x30 mm and 2 mm (± 0.2 mm) wall thickness fixed to the shutter styles by means of plastic/ galvanised M.S. 'U' cleats. The shutter frame filled with a uPVC multi-chambered single panel of size not less than 620 mm, having over all thickness of 20 mm and 1 mm (± 0.1 mm) wall thickness . The panels filled vertically and tie bar at two places by inserting horizontally 6 mm galvanised M.S. rod and fastened with nuts and washers, complete as per manufacturer's specification and direction of Engineer-in-charge.		sqm	1978.65	3324.13
4	SUB HEAD IV -Flooring				
4.1	Providing and laying Ceramic matt finish floor tiles of size 300x300 mm (thickness to be specified by the manufacturer) of 1st quality conforming to IS: 15622 of approved make in colours such as White, Ivory, Grey, Fume Red Brown, laid on 20 mm thick cement mortar 1:4 (1 Cement: 4 Coarse sand), Jointing with grey cement slurry @ 3.3 kg/sqm including pointing the joints with white cement and matching pigment etc., complete.	2.52	sqm	926.90	2335.79
5	SUB HEAD V -Roofing				
5.1	Providing and fixing on wall face unplasticised Rigid PVC rain water pipes conforming to IS: 13592 Type A, including jointing with seal ring conforming to IS: 5382, leaving 10 mm gap for thermal expansion, (i) Single socketed pipes.				
5.1.1	75 mm diameter	20.00	metre	201.10	4022.00
5.1.2	110 mm diameter	10.00	metre	305.05	3050.50

			1	1	
5.2	Providing and fixing on wall face unplasticised - PVC moulded fittings/ accessories for unplasticised Rigid PVC SWR pipes conforming to IS: 13592 Type A/B, including jointing with seal ring conforming to IS: 5382, leaving 10 mm gap for thermal expansion.				
5.2.1	Coupler				
5.2.1.1	75 mm	4.00	each	77.85	311.40
5.2.1.2	110 mm	6.00	each	117.80	706.80
5.2.2	Single tee with door				
5.2.2.1	75x75x75 mm	2.00	each	139.85	279.70
5.2.2.2	110x110x110 mm	1.00	each	203.30	203.30
5.2.3	Bend 87.5°				
5.2.3.1	75 mm bend	2.00	each	89.90	179.80
5.2.3.2	110 mm bend	2.00	each	129.85	259.70
5.2.4	Shoe (Plain)				
5.2.4.1	110 mm Shoe	1.00	each	113.80	113.80
6	SUB HEAD VI - Finishing				
6.1	12 mm cement plaster of mix :				
6.1.1	1:4 (1 cement: 4 fine sand)	17.00	sqm	266.85	4536.45
6.2	Providing and applying white cement based putty of average thickness 1 mm, of approved brand and manufacturer, over the plastered wall surface to prepare the surface even and smooth complete.	15.00	sqm	115.15	1727.25
6.3	Wall painting with premium acrylic emulsion paint of interior grade, having VOC (Volatile Organic Compound) content less than 50 grams/ litre of approved brand and manufacture, including applying additional coats wherever required to achieve even shade and colour.				
6.3.1	Two coats	15.00	sqm	113.90	1708.50
7	SUB HEAD VII - Dismantling and Demolishing				
7.1	Demolishing cement concrete manually/ by mechanical means including disposal of material within 50 metres lead as per direction of Engineer - in - charge.				
7.1.1	Nominal concrete 1:3:6 or richer mix (i/c equivalent design mix)	0.13	cum	1737.45	225.87

8	SUB HEAD VIII - Sanitary Installations				
8.1	Providing and fixing white vitreous china pedestal type water closet (European type W.C. pan) with seat and lid, 10 litre low level white P.V.C. flushing cistern, including flush pipe, with manually controlled device (handle lever), conforming to IS: 7231, with all fittings and fixtures complete, including cutting and making good the walls and floors wherever required:				
8.1.1	W.C. pan with ISI marked white solid plastic seat and lid	1.00	each	5260.95	5260.95
8.2	Providing and fixing wash basin with C.I. brackets, 15 mm C.P. brass pillar taps, 32 mm C.P. brass waste of standard pattern, including painting of fittings and brackets, cutting and making good the walls wherever require:				
8.2.1	White Vitreous China Wash basin size 630x450 mm with a single 15 mm C.P. brass pillar tap	1.00	each	2751.30	2751.30
8.3	A Providing and fixing 8 mm dia C.P. / S.S. Jet with flexible tube upto 1 metre long with S.S. triangular plate to Eureopean type W.C. of quality and make as approved by Engineer - in - charge.	1.00	each	297.55	297.55
8.4	Providing and fixing P.V.C. waste pipe for sink or wash basin including P.V.C. waste fittings complete.				
8.4.1	Flexible pipe				
8.4.2	32 mm dia	1.00	each	101.10	101.10
9	SUB HEAD IX - Water Supply				
9.1	Providing and fixing G.I. pipes complete with G.I. fittings and clamps, i/c cutting and making good the walls etc.				
9.1.1	25 mm dia nominal bore	15.00	metre	438.00	6570.00
9.1.2	32 mm dia nominal bore	10.00	metre	529.70	5297.00

9.2	Providing and fixing C.P. brass bib cock of approved quality conforming to IS:8931:				
9.2.1	15 mm nominal bore	2.00	each	418.95	837.90
9.3	Providing and fixing C.P. brass angle valve for basin mixer and geyser points of approved quality conforming to IS:8931				
9.3.1	15mm nominal bore	2.00	each	532.00	1064.00
9.4	Providing and fixing C.P. Brass extension nipple (size 15mmx50mm) of approved make and quality as per direction of Engineer-in-charge.	1.00	each	61.25	61.25
9.5	Providing and fixing PTMT extension nipple for water tank pipe, fittings of approved quality and colour.				
9.5.1	25mm nominal bore, weighing not less than 62 gms	1.00	each	113.40	113.40
9.6	Cutting holes up to 30x30 cm in walls including making good the same:				
9.6.1	With fly ash (non modular) bricks	1.00	each	327.25	327.25
		Total		65786.26	
		SAY		65786.00	